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Program #3

You are to write a program which will compute the sizes of clothing based on some measurements from a client. The input into the program will be the user’s weight (in pounds), age and height (in inches). Optionally you may enter the weight in pounds and ounces, then convert it into pounds. Also, you may enter height in feet and inches, then convert into inches. You must implement the program as a 2-module set: a driver module and a clothes module (clothes.h and clothes.cpp files). Submit both, VC++ and UNIX solutions.

You will compute the hat size, jacket size, and waist size. The computations should be as follows:

Hat size -  weight (in pounds) divided by height in inches, all multiplied by 2.9.

Jacket Size – height times weight divided by 288. Then add 1/8 of an inch for each 10 years over 30. The adjustment is for a full ten years only. So 39 has no adjustment, but 40 has 1/8 inch adjustment. Similarly, 52 should have 2 * 1/8 adjustment.

Waist – wight divided by 5.7. Then add 1/10 of an inch adjustment for each 2 years over 28. There is no adjustment for age 29, but 1/10 of an inch for 30. For age 35, there would be 3 * 1/10 of an inch adjustment. 

The program should be implemented with a function for each of the above three computations. Therefore, you will have a main( ) function as well as three more. Also, be sure to implement a loop to allow the user to run the program again. A sample output run follows:

[image: image1.png][Please Enter Height CFeet and inchesd: 6 1
[Please Enter Ueight (pounds and ounces>: 194 8
[Please Enter Age: 26

[Please Enter Height (Feet and inchesd: 5 8
[Please Enter Ueight (pounds and ounces>: 176 3
[Please Enter Age: 32

Hat Size : 7.51
iacket Size: 41.60
iaist: 31.11

[Run Progran Again Cu/n> 7 n
[Press any key to continue_





